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p. 18 S} 7&: “ seviceability” ==> ¢ serviceability”
p. 38 3 65: “REZ WSIIC "= “2 WlsteiTh
p. 75 ® 2.3:
QAL (ISO 45001:2018)
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3. OH&S FPAIAHI] W 24 4. OH&S ZFAIAH
ey F2AF o
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P. 76 3} 6% < 1966 ' @87 ==> “1996\d 57| 7
p. 99 9&: « ®ANY} 7 ==>¢ 1ila} >
p-101 4%
(Defects per Million Opportunities; BHQF SRt ASE4) ==> (Defects per Million
Opportunities; "H9F 7[2] Aot
p.112 5} 3&: JAIAE ster A5
p.124 25 « ()7 ==> « (¢)”
p126 3t 3%: “MRE ==> “u}7E
p. 128 5 15« AP = « G
pld6 13: “F 12 & = “% 169"
p. 157 3%: «“ 2HAGH => « ZHAEZP

p- 171
p. 195
p. 207

5F 7&: “AHsto] 39 o F9”
4% < (4.20b)0]” “ (4.202)0]”
AS=A 4159 = (D), @Y & 274:

—> “nfatol L2t o2 g9

==>



n>
oot
r
Fot

Yy 14 SNH| e

1 3.3400 0.005800 32.841 10.475
2
3 4.0375 0.010825 31.778 12.122
4
A B C A B C
3231 1 11.299
20.04 2 11.294

p. 207 AHEA] 4.169] ¥ DR} Alo]A:

Ely )= - =%E[(1+y0“ 2}
p. 208 ®O] A =: M, ==> M, (1.0) ; M, ==> M,(2.0); M; ==> M,(3.0)
p. 217 oF 2& AoA: “(@—17)” =>* (1,— 7))
p. 219 ofA] 5.59] 2&: “209FP” ==> « 307tA”
p. 226 Al (5.18)9] £ e = X s
p- 227 7% 7k A9 22 xlooos = Xiooos
p. 230 oA 5.109] 1&: « gHgd» = A~
p. 245 AGEA 5.69] 38 “RFO H(C.HO” ==> “EF H(C.6) E= SWOI”
p. 246 ISEA 5109 2&: <X, .. 2 ZFZF H4o] 0.5, 1.50, 1.00cm?l”
=> “X,, .. 2 7tZ} H4o] 2.50, 1.50, 1.00cmo] 1l FAto] =5k
p. 247 IS EA 5.129] & 5.11 F &: “451.167 ==> “451.56”
p. 248 ASEA| 5139 & 5.139] ULX|9 & A ®IA ThoflAf: “g” ==> «7”
p. 267 115:  “A&E 47 BEX] » => “AKE 57| BEXR|”
p. 270 3} 4 ZEE p. 271 9 EVA]:
p=0.35 - p=0.65
ann—Lo L5
P .65
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W, ..., h=1AZro|H ATS= ARL h=154(1)=1.54+{Fo] =}, ...
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p. 201 7.1 A & AX20] 9Jx] AA[E 728 A]:

) A A7) R,
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p-306 St 4% UCL, = Bys= 1.761(97.51) = 171.7
p.- 313 A 720 oJA] RE Rm 22 47:
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d, 1.128
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p. 343 A (744) o2t Eo] 4:
am+a; +asn
B \/w[umll/z]
p. 343: oA 7.150]A4]:

12 a, =005 ==> q,=05; 4&: 4797 ==> 4.80
5  “A|A he Al (744047 => “FA htx a=20(—3.19)7} 0.00140] 22 Al
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p. 346 AHASZEA 7.5:

25 25
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1=1 1=1

p- 350 ASEA 7.17: “B2&F 7] 103 "= "EEa 27 1007«
p. 358 of 6 &: 7 ==> 64



p 379: ofollA] & WM Al oz, = 2,

p 410 5} 6%: « SPEY” => “HE”

p 412 6 3:  20~25 7j9] BEILo]|

p. 412 5} 9%: “FAAAY UCLy” = “F4H4=t UCL”

p 417: 5F 2&:  ©A 2 o] 77 He| o
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p 474: A5EA 8.15: oA &.140] Thsl A 2

p488 13%5: (4) “THT ZFE(DPU) =2 7|2F AFE(DPO)” ==> “HT 4
(DPU) =2 73] ZAT(DPO)”

p491 8% “o] QRIS Wa]” = “QAIS TH”

p493 517,8 Z: ( AoIA (50)==>(60), (49)==>(59) +7%)
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=1[0.15, 0.33]
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p. 562 A (10200014 = Wrjet U #Af Alo] ERo]A:
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p.625 Orx|9} &: = 4597} Hc}
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p. 724 3} 3% (1) ¥
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= P(—6.6221/12/11) = $(—6.340) =~ 0
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oF 2&: “qFAMRo]? ==> «;1A0|”
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p. 749 oA 13.59] ORR|Y & mY => T
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p. 783 6Z9] F3t Alo] § B
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